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The velocity of an object is given by 30/+/6f +4 cm/sec. How far has it traveled
after 2 seconds, if its initial displacement is zero? (15%)

Solve the integral equation | (15%) |
YO =t+ [ y(@)de +[(t —a)y(a)de
0 0

Determine the general solution of the homogeneous system (20%)
¥ +y+3y/ =0
3y, +y, +2y,=0

Find a parametric equation for the normal line of the surface x*+)>+2z%=1 at the

point (1,1,-1) . (15%)

Use Green’s theorem to evaluate i% yidx + (xy + xyz)a’y , where C is the boundary

of the region in the ﬁré_t quadrant determined by the graphs of y=0 » x=y >
x=1-y. ' (20%)
Use Stoke’s theorem to evaluate the line integral iﬁ -dr for

F=(x=-y)i+(y- z)j+(z=x)k and C the triangle with vertices (1,0,0). (0,1,0),

(0,0,1). Assume C 1s oriented counterclockwise as viewed from above. (15%)



